1591S
2] ]

0 T T © :

> Y =

[315]

5220 ——
[32%6]

M3 X0.5-6Hx5.75 -

TOP VIEW OF BOX
SIDE VIEW OF BOX THREADED HOLES B SECTION B-B

SCALE3/4

11000

(4331
[=— AVERAGE WALL THICKNESS
206 3.00 2.00
1061) {118) Lors)
T T

(= |
SECTION A-A |+ nammowest soe omensions — o]
SCALE3/4 e
D . S—
- parg
& 4]
G .
nnER 80X HEHT
SIDE OF LID Py
1732
%620 200
[3.787] Lo79)

d -
i D SECTION D-D
END VIEW OF ASSEMBLY SCALE 3/4
PART NUMBERS
82.20 6840 Material Colour Part Number
[3.236] [2.693] Beige 1591SBG
Black 1591SBK
ABS Blue 1591SBU
Grey 1591SGY
Black Shielded 1591RSBK
© ® i GP ABS Black 1591SSBK
) Translucent Ice Blue 1591STBU
IR Red 1591STRD
400 Polycarbonate
110,00 e Crystal Clear 1591STCL
8331
BOTTOM OF LID SIDE OF LID —
Description Part Number

PC Board Card Adapters

See Accessories

Section
Used with ABS Flange Kits See Acce_ssorles
102.70 and Section
{4.003] Translucent Replacement Screws, nickel plated M3 - 0.5 x 1591MS100
Cc 88.20 Polycarbonate 10mm, Pack of 100, 1591MS100BK (Black)
— [3472) /UD Er{closures Belt/Pocket Clip, w/ nylon screws (insulated to 1599CLIP - Black
7 7 avoid interference) and mounting template 1599CLIPGY - Grey
Clear Lids - clear, flame retardant 1591SC
polycarbonate - Lid ONLY
See Accessories
[WNER BOX HEIGHT PC Board Card Adapters Section
[1.496] Elange Kits See Accessories
g Section
—— QU Used with GP | Belt/Pocket Clip, w/ nylon screws (insulated to | 1599CLIP - Black
] ox ABS Enclosure| _avoid interference) and mounting template 1599CLIPGY - Grey
C SECTION C-C Replacement Screws, self tapping, black oxide,| 1501TS100BK
END VIEW OF ASSEMBLY SCALE 3/4 M #4 x 0.5, Pack of 100
MANUBACTURING.. Clear Lids - clear, flame retardant
olycarbonate - Lid ONLY 1591SC
w M3 - 0.5 x 10mm Screws 30-40 cN*m
www_h dmfg.com| #4 x 0.5 Screws 30-40 cN*m
¥ 3




